
Assignment #7    Math 290    Name: 
1. Solve the following DE: 

 a) ( )3'' 9 18sec 3 ;
6

y y x x π
+ = <  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 b) 
3

2

2'' 6 ' 9
1

xey y y
x

−

+ + =
+

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 c) 
( )2

64'' 2 ' 17
3 sin 4

xey y y
x

−

+ + =
+

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 d) 
2

2
2

4'' 4 ' 4 2 1
1

xey y y x
x

−

+ + = + −
+

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



2. Solve the following Cauchy – Euler DE: 
 a) 2 '' ' 5 0x y xy y− + =  
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c) ( ) ( )2 '' 3 ' 4 0; 1 5, ' 1 3x y xy y y y− + = = =  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
d) ( )22 '' ' 5 8 lnx y xy y x x− + =  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



e) 3 ''' ' 0x y xy y+ − =  
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